Indian Geography, Environment and Ecology

TEST PAPER- 4

‘Which of the following statement is Correct ?

1. The folds of the Great Himalayas are
symmetrical in structure.

2. Shiwalik's range extends from the Potwar
Plateau to the Brahmaputra valley.

3. The amount of rainfall in the Shiwaliks and
Ganga Plains decreases from east to west.
Select the correct answer using the code given

below:

(a) 1 only

(b) 1& 3 only
(¢) 2& 3only
(d) 1&2only

Consider the following pairs with regards to ranges
of Lesser Himalayas:

1. Pir Panjal Jammu & Kashmir

2. Nag Tibba Range Uttarakhand

3. Mahabharat Lekh Nepal

4. Dhaola Dhar Range | Himachal Pradesh

Which of the following statement is/are correct?
(a) 1&4only

(b) 2, 3 & 4only

(¢c) 1,3 &4 only

(d 1,2,3&4

‘Which of the following statement is Correct?

1. Trans Himalaya is also known as Tibetan
Hiamalya.

2. The Purvanchal Hills extend from Arunachal
Pradesh in the north to Mizoram in the south.

3. Barail range separates Naga Hills from Mizo
Hills.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 & 3 only

(c) 1& 3only

(d) 1&2only

‘Which of the following statement is Incorrect ?

1. The Karakoram, Ladakh, Pir Panjal, Zaskar,
and Dhaola Dhar are part of Punjab Himalaya.

2. Assam Himalaya spread over Sikkim, Assam
& Arunachal Pradesh.

3. The Kumaon Himalayas extend from the
Satluj to the Beas River.

Select the Incorrect answer using the code given

below:

(a) 1only

(b) 2 & 3 only

(c) 3 only

(d) 1&2only

Consider the following statement regarding
Karewa:

1. Karewas are lacustrine deposits in the Kashmir
Valley.

2. The Karewas are devoted to saffron
cultivation.

Which of the following statement is Correct?

(a) 1 only

(b) 2 only

(c) Both1l &2

(d) Neither 1 nor 2

Which of the following statement is Correct ?

1. The world's highest motorable road, passes
through Khardung La pass.

2. The Bara-lacha La Pass, is a high mountain
pass in the Zanskar range that connects
Himachal Pradesh to Ladakh.

3. Lipu Lekh is situated on the trijunction of
India, Nepal & China.

Select the correct answer using the code given

below:

(a) 1 only

(b) 1& 3 only

(¢) 2 & 3 only

@ 1,2&3

Consider the following Statement:

1. Bhanger is composed of the newer alluvium .
2. Khadar is composed of the older alluvium .
Which of the following statement is Correct?

(a) 1 only

(b) 2 only

(c) Both1l&2

(d) Neither 1 nor 2

Which of the following statement is Correct?

1. Peninsular plateau is roughly triangular in
shape.

2. Peninsular Plateau is one of the youngest
landforms on earth.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both1&2

(d) Neither 1 nor 2

Which of the following statement is Correct ?

1. Mahendragiri is the highest peak in Eastern
Ghat.

2. Aravali hill extends from Rajasthan to Delhi.

Select the correct answer using the code given

below:

(a2) 1only

(b) 2 only

(c) Both1 &2

(d) Neither 1 nor 2

AL

CALL: 0522-4623578
9911999187

www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Indian Geography, Environment and Ecology | 1




AR e, adiaror 31 arifEafadh®

e UuR—4

f=fafea 3 @ o a1 pu g8l 2

1. ggd fgHTerd & gl chl TRa-1 GAfd 81

2. fRyaferen di Soft diqar UeR & A SIgTg °rer
Teh hef! g3 81

3. e ofik 7 & Al # auf fi A6 gd @
gf| &t 3R gedt St 81

2 37 7T Fe @1 v wR gE S g

(a) dad 1

(b) daer 1 3R 3

(c) dhae2 3R 3

(d) Faet 1 3iR2

oy fearera di Afoat & gy # Aefafea gt )
faR &
1.dR U | S SR SR

2. T fesan I | SRREE
3. AEIRA 39 | AUt

4. dfemr I | fRamae uesr

fafafea & @ o9 9/a &y 98t 8/8?
(A) Fad 1 3R 4

(B) haet 2, 3 3k 4

(C) dhaet 1,3 3R 4

(D)1,2,33R4

f=fafaa 3 @ o9 a1 py= 98l 82

1. cig feurera &t fossdt fRamera & 9m @ off S
Sar gl

2. yafad & UgIfeal SR # SRUMad UeeT ¥ A
feror # fAReA aeh et g3 8

3. R Aoft Grm ggifsal wt s veifieat @ s
&l Bl

e Q1Y e 1 TN R FE ST AT

(a) hae 1

(b) haer 2 3R 3

(c) dadt 18R 3

(d) daet 1 3R 2

fAfafaa § @ & a1 %y Tad 82

1. PRIGRY, dERE, TR U, SRR 3R iR
Yot fgaTerd o1 fger 81

2. 3y fRurera fafapa, sy ofR sreummaet uesr &
el g3 81

3. AN, QAT Taerst 8 sarg A& deh hell ganm 8|

2 g 77T g &1 Tl R T S A

(a) hael 1

(b) dhaet 2 3R 3

(c) Fad3

(d) Faa 1 3R 2

AT & Gag § A=faf@d Fl &R farR &2
1. el hHR 918 § WaR & Ry g1

2. &A1 IR Y Gt & forg gaAfta g1
fA=fafaa & g o9 a1 e g8t 87

(a) dad 1

(b) had 2

(c) 13R2at

(d) Fat13iRAg2

fAefafaa & @ o 91 5y g8t 82

1. gfan & g St arg avg aeh, @RGT o1 &
Y glohe ot 81

2. SRI-TAT T &, ST 35T | Yeh I=d Uddid &3i §
St feHTae UeRT i AER ¥ SiSdT 8|

3. foge WRd, dure ofk @ & HBEm w f@a
gl

2 f&Q 7Y e a1 AT R et SR g

(@) a1

(b) daeT 18R 3

() dhaa 23k 3

(d) 1,233

ffafEa sy ©R foar

1. IR T Sefte @ a1 81

2. @R R el § 5 &
fA=fofea d 3 o9 a1 sy g8t &7
(a) a1

(b) haa 2

(c) 132t

(dy Far13fRAS2

fFfafaa & @ o a1 sye 9gl &7

1. U USR SR H 9HFT dR IR SRR
gl

2. UGIUN USR et R Hed i sl | 4
T 8l

12 13T 7Y g &1 T R HEt ST g

(a) hae 1

(b) haa 2

(c) 13R2a+t

(d) Fat1 eiRAE2

fA=fafEa d 9 a9 a1 yw gt 87

1. HeaRiR gdf are di gad St 91 81

2. 3RTEc Tdd IS ¥ feeed! deh thell g &1
12 faQ 7Y e 1 AT R et SR AT

(a) Fad 1

(b) a2

(c) 13R2a+t

(d) Fat13RTE2

|AS CALL: 0522-4623578
: 9911999187

Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Indian Geography, Environment and Ecology | 2




10.

11.

12.

13.

14.

15.

Which of the following statement is Incorrect?

(a) Shillong peak is the highest point of the
Meghalaya plateau.

(b) Dhupagarh is the highest peak of the Satpura
Range.

(¢) Anai Mudi is the highest peak of the Western
ghat.

(d) Guru Shikhar is the highest peak of the

Aravalli range.

Which of the following statement is/are correct?

1. India has a total coastline of 6100 km.

2. Konkan coast extends from Maharashtra to
Karnataka.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both1&?2

(d) Neither 1 nor 2

Consider the following Statement with regard to

the Islands of India:

1. The Great Andaman group of islands is
separated by the Ten Degree Channel from the
Nicobar group in the south.

2. Saddle peak is the highest peak of North
Andaman.

3. The Duncan passage separates
Andaman from South Andaman.
‘Which of the following statement is/are Correct?

(a) 1& 3only

(b) 2 & 3 only

(© 1,2&3

@d 1&2

Little

‘Which of the following statement is/are correct?

1. India covers an area of 5 million square
kilometres.

2. India has a total land border of approximately
15,200 kilometres.

Select the correct answer using the code given

below:

(@) 1only

(b) 2 only

(c) Both1&2

(d) Neither 1 nor 2

Which of the following statement is/are correct?

1. India has the second-largest border with
Bangladesh.

2. Four States of India touch the boundary of
Nepal.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both1 &2

(d) Neither 1 nor 2

Consider the following Statements:
1. The southernmost point of India is Indira
Point.

16.

17.

18.

19.

20.

2. The tropic of cancer passes through eight states
of India.

Which of the following statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both1 &2

(d) Neither 1 nor 2

Pay attention to the following glaciers -
1. Hispar 2. Batura

3. Siachen 4. Baltoro

Give the correct sequence of the above glaciers
moving from west to east.

(@ 2,3,4,1

(b) 2,1,4,3

(© 3,2,4,1

@ 4,1,3,2

‘What are 'Bugyal' and 'Payal' ?

(a) Glacier

(b) Mountain range

(c¢) Grasslands

(d) Lagoon Lake

Assertion (A): All the major rivers of peninsular

India drain into the Bay of Bengal, but the

Narmada and Tapi rivers drain into the Arabian

Sea.

Reason (R) : Narmada and Tapi rivers flow

through rift valleys.

Select the correct answer from the code given

below :

Code :

(a) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct, but (R) is not the
correct explanation of (A).

() (A)is correct, but (R) is wrong.

(d) (A)is wrong, but (R) is correct.

Match List-I with List-II and select the correct
answer using the code given below the Lists-

List-I List-IT
(Mountain Pass) (State)
A. Tuju 1. Arunachal Pradesh
B. Mulling 2. Sikkim
C. Diphu 3. Uttarakhand
D. Jelep La 4. Manipur
Code :

A B C D
(@ 2 1 3 4
(b) 1 2 4 3
(© 3 1 4 3
d) 4 3 1 2

In which state is the 'Silent Valley' located ?
(a) Tamil Nadu

(b) Kerala

(c) Assam

(d) Karnataka
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21.

22.

23.

24.

25.

26.

27.

Which of the following is the youngest mountain
range of India?

(a) Himadri Range

(b) Western Ghats

(c) Aravalli

(d) Vindhyachal range

Which of the following groups of states of India

shares a border with Pakistan ?

(@) Jammu and Kashmir, Himachal Pradesh,
Punjab and Rajasthan

(b) Punjab, Jammu and Kashmir, Rajasthan and

Gujarat

(c) Punjab, Haryana, Jammu Kashmir and
Rajasthan

(d) Punjab, Himachal Pradesh, Rajasthan and
Gujarat

Ombkareshwar Project is associated with which one
of the following rivers ?

(a) Narmada

(b) Chambal

(c) Tapi

(d) Bhima

Examine the following statements and select the

correct answer from the code given below —

1. Dev Prayag is situated at the confluence of
Alaknanda and Bhagirathi river.

2. Rudraprayag is situated at the confluence of
Alaknanda and Mandakini rivers.

3. Alaknanda river flows through Badrinath.

4. Kedarnath is considered as the biggest Peeth
established by Adi Shankaracharya.

Code :

The correct order from north to south of east

flowing rivers in Peninsular India is —

(a) Subarnarekha, Mahanadi, Godavari, Krishna,
Pennar, Kaveri and Vegai

(b) Subarnarekha, Mahanadi, Krishna, Godavari,
Kaveri, Vaigai and Pennar

(c) Mahanadi, Subarnarekha, Godavari, Kaveri,
Krishna, Pennar and Vegai

(d) Mahanadi, Subarnarekha, Krishna, Godavari,
Kaveri, Vegai and Pennar

‘Which of the following drainage systems is mainly
formed by the rivers of South India ?

(a) radial

(b) Intermittent

(c) dendritic

(d) Trellis

‘Which of the following pair of islands is separated
by a 10 degree channel?

(a) Lakshadweep and Minicoy

(b) South Andaman and Little Andaman

(c) Andaman and Nicobar

(d) Pamban and Mannar

28.

29.

30.

31.

32.

The extent of territorial waters of India is—
(a) up to 3 nautical miles from the coast
(b) up to 6 nautical miles from the coast
(c) up to 12 nautical miles from the coast
(d) up to 24 nautical miles from the coast

Which one of the following statements is not

correct?

(a) The Western Ghats are relatively higher in the
northern region.

(b) Anaimudi is the highest peak in the Western
Ghats.

(c) Tapti river is to the south of Satpura.

(d) The southernmost point of India is Indira
Point.

Palghat is situated between which of the following?
(a) Nilgiri and Cardamom Hills

(b) Nilgiri and Anamalai Hills

(c) Annamalai and Cardamom Hills

(d) Cardamom Hills and Palani Hills

The withdrawal of monsoon indicates —

(1) Shifting of ITCZ towards north

(2) from the clear sky

(3) due to high pressure conditions in the Bay of
Bengal

(4) due to low temperature at the site

Select the answer from the codes given below—

(a) Both 1 and 2

(b) 1,3 and 4

(©) 2,3,and 4

(d) 2and 3

Which one of the following soils of India is most
suitable for the cultivation of cotton?

(a) Regur soil

(b) Laterite soil

(c) Alluvial soil

(d) Red soil

33. Match List I with List IT and select the correct answer

using the code given below —

List I (Forest Type)

A. Tropical moist

deciduous

B. Tropical dry

deciduous

C. Alpine

D. Tropical evergreens
Code :
(a) A4,
(b) A4,
(o) A-1,
(d) A-3,

List IT (State)
1. ArunachalPradesh

2.Sahyadri

3.middle ganga plain
4.Lowlands

-1, D-2
-1,D-3
-2, D-4
4, D-2

-3,
-2,
-3
-1

’

xR RveRve}
ONSONSNS!

’
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21.

22.

23.

24.

25.

26.

27.
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28.

29.

30.

31.

32.

33.
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g I (a9 UaR) g II (I=9)
(A) SWTRReEHg 79 1. STEUITE TR
udgls
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G

(a) A-4,B-3,C-1,D-2
(b) A-4,B-2,C-1,D-3
(c) A-1,B-3,C-2,D-4
(d) A-3,B-1,C-4,D-2
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34.

35.

36.

37.

38.

39.

Assertion (A) : The northern plains of India

receive some rainfall in winters.

Reason (R) : South-west monsoon is active in

winter.

Select the correct answer from the codes given

below-

Code :

(a) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct, but (R) is not the
correct explanation of (A).

(c) (A) is correct, but (R) is wrong.

(d) (A)is wrong, but (R) is correct.

Identify the correct sequence of soil erosion

processes from the following-

(a) Sheet erosion, escarpment erosion, gully
erosion, rill erosion

(b) escarpment erosion, sheet erosion, rill erosion,
gully erosion

(c) Rill erosion, gully erosion, sheet erosion,
escarpment erosion

(d) gully erosion, rill erosion, sheet erosion,
escarpment erosion

Consider the following statements-

1. The duration of monsoon decreases from
southern India towards northern India.

2. The amount of annual rainfall decreases from
east to west in the plains of northern India.

Which of the above statement(s) is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

‘Which of the following crops enriches the soil with
nitrogen?

(a) Potato

(b) Sorghum

(c) Sunflower

(d) Pea

The least rainfall place in India is —
(a) Leh

(b) Jaisalmer

(c) Bikaner

(d) Cherrapunji

In which of the following areas the use of water is
maximum in India?

(a) Domestic sector

(b) Agricultural sector

(¢) Industrial sector

40.

41.

42.

43.

45.

(d) Mining sector

The Central Arid Zone Research Institute

(KAZRI) is located at -

(a) Jodhpur

(b) Barmer

(c) Bikaner

(d) Ajmer

Assertion (A) : Anticyclonic conditions are formed

in winter when the atmospheric pressure is high

and the air temperature is low.

Reason (R) : Winter rains in North India lead to

anticyclone conditions with low temperatures.

Code :

(a) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct, and (R) is not the
correct explanation of (A).

(c) (A)is correct, but (R) is wrong.

(d) (A)is wrong, but (R) is correct.

What should be the pH value of fertile land for
growing normal crops?

(@ 3

(b) 6to7

(c) 9to 10

d 4

‘Which is the most fertile soil in India?
(a) Alluvial soil

(b) Red soil

(c) Black soil

(d) Calcareous soil

Which of the following coastal regions in India
receives rainfall from the North-East Monsoon?
(a) Gujarat Coast

(b) Coromandel Coast

(c) Malabar Coast

(d) Konkan Coast

Which of the following can be used to make acid
soil fit for agriculture?

(a) Calcium

(b) Gypsum

(c) Lime

(d) Vegetable compost
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34.

35.

36.

37.

38.

39.

YT (A) : TR SIS A A TSI A g ant g
St 8 |

RO (R) : STTS # aferor-ufgs Ay afeha gidt 8|
e fag U e @ TEt SR gfg-

Fe

(@) (A) a1 (R) &l F&l &, auT (R), (A) Y @@t
ARATE |

(b) (A) @ (R) & T&l €, og (R), (A) & Tat
AT 8l 8 |

(€ (A)"EIg, WY (R) Terd 5|

(d) (A)TeId 8, o (R) ol 5 |

ffefEa o @ a1 sroRe uftharstt & Tt oA ol

REEIEIE

(a) URd 37UREH, TR SRS, STa-TfeTehl STURG
Rt stuRea

(b) TR 3TUREH, URd 3TUReH, et 3raRe,
IR 3TURET

(c) ReT 31uReH, SraTfelehT 3TUREH, URA STUREH,
IR TR

(d) SraATfeTenT 3TuRe, Ret 3UREH, URd STuRE
PR U

fFafafaa sl = R fifse-

1. ol TR & I YR hl TR AFYH i 3afy
gedht 8|

2. I AR & Al A aiftier gie <l AT g4 &
gfge &t ok gedi g |

U H ¥ hIH-A1/Y hYA Fal 8/8?

(a) dad 1

(b) Faet 2

(c) 1 3fR2 el

(d) Fat1RAE2

fAfafad & @ en-Ht thaet Ja1 ol A1ggie & WRQY
R A 8?2

(a) STef

(b) TEg

(c) gRomE!

(d) 7R

IRd § 98 H auf aref U @ -
(a) =8

(b) SR

(c) SRR

(d) =Rt

ffafaa & @ fhg &7 d 5ot o1 IuahT IR &
gaffde g7

(a) e &

(b) P &=

(c) Sitenfies &=

(d) T &

40.

41.

42,

43.

44,

45.

HT Ik &5 ST YA (STorl/CAZRI) fR&a
3.
(a) SiterqR
(b) aTER
(c) diprR
(d) SR

&Y (A) : Ufd-Tehard! Rfqat sfia g J a9 st 8
9 IIgHSA &9 I §iaT § SR argary T g
gl

&RYT (R) : 3R 9RA F 2fiaepreti= auf @ A= arat
aTelt - =ehart fRAfaT der gt 8|

%

(@) (A) 3R (R) &t Tt &, 3R (R), (A) &1 Fal
T g |

(b) (A) 3R (R) &+t a8t &, 3R (R), (A) & Tal
AT 81 g |

(0) (A) w8, ©q (R) TTerd 5 |

(d) (A)TTeid 8, W (R) el 8|

A Thilel ST o fog IR A T pH A fohamm
BT AR g?

(@) 3

(b) 67

(¢ 9&10

(d) 4

R § GaY HTYeh IUSIS: HaT hiA-41 82
(a) STelig Har

(b) et 7ar

(c) hredt g

(d) AR T

ORd # = 7 @ forg 98 wey # IR-gdl Ay @
gt gidt 87

(a) TERIEde

(b) TRIHS de

(c) ATAER de

(d) @iepuT de

3t ) ot it Al s & fog Fafaf@a d @
forgenT IumT foRaT ST gendr 87

(a) HfRrw

(b) fSOrwm

() Zam

(d) afSiéeet shule
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46.

47.

48.

49.

50.

Consider the following factors:
1. Continentality

2. Latitude
3. Altitude
4. Relief

5. Upper air circulation

Which of the above given factors determine the
Indian climate ?

(a) 2,3 and 4 only

(b) 2, 3,4 and 5 only

() 1,2,3and4 only

(d 1,2,3,4and 5

Consider the following statements with reference to

Inter-Tropical Convergence Zone (ITCZ) :

1. In the winter season in India, ITCZ is a low
pressure zone located at the equator where
trade winds converge.

2. Itis a zone where air tends to descend.

Which of the statements given above is/are not

correct?

(a) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following statements:

1. The positive phase of the Indian Ocean Dipole
(IOD) usually results in above-average rainfall
in India and drought conditions in Australia.

2. El Nino usually results in below-average
rainfall in India and surplus rainfall in
Australia. Which of the statements given
above is/are correct?

() 1only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

Consider the following statements in the context of

Indian Climate:

1. The easterly jet stream steers the tropical
depressions into India.

2. Cold winds coming from Turkmenistan bring
cold waves in the month of February.

Which of the statements given above is/are

correct?

(@) 1only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

Consider the following pairs:
Industry — Location in Uttar Pradesh

1. Iron & Steel industry ~— Sonbhadra
2. Ceramic industry — Jhansi

3. Fertilizer industry — Lalitpur

4. Limestone — Kajrahat

Which of the above given pairs are correctly
matched?

(a) 1and 3 only

(b) 1,2 and 3 only

51.

52.

53.

54.

(c) 1,3 and 4 only
(d) 1,2,3and 4

Which of the following States border Uttar
Pradesh?

1. Haryana

2. Rajasthan

3. Chhattisgarh

4. Jharkhand

5. Himachal Pradesh

Select the correct answer using the code given
below:

(a) 1,2 and 3 only

(b) 2,3 and 4 only

(c¢) 1,3,4and 5 only

(d 1,2,3,4and5

Consider the following pairs:
Conservation areas — Location
1. Asan wetland — Uttar Pradesh
2. Bakhira wildlife sanctuary — Punjab
3. Siswan community reserve — Uttar Pradesh
4. Vijai Sagar wildlife sanctuary — Bihar
How many of the pairs given above are correctly
matched?
(a) One pair only
(b) Two pairs only
(c¢) Three pairs only
(d) None of the pairs

Which of the following statements is not correct

regarding the industries in Uttar Pradesh?

(a) Shankargarh and Prayagraj districts are
famous for glass manufacturing.

(b) Crystalline marble deposits are found in
Ningha hill and south of Obra in Sonbhadra.

(c) Sizable deposits of high grade Alumina have
been located in Rajahaun, south of Manikpur.

(d) Reserves of diaspore are found in north-eastern
districts of Uttar Pradesh.

Consider the following statements:

1. In the Census 2011, the child sex ratio was
more than the adult sex ratio.

2. There were 29 questions asked in the Census
2011.

3. It was the 15th National Census of the
Country.

Which of the statements given above is/are not

correct?

(a2) 1only

(b) 2 and 3 only

() 2only

(d) 3 only
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46.

47.

48.

49.

50.

fafafed aRe! R AR &R
B EFAIDE |

3retier

Fag

ITeT

5. JU g uRE=ROT

IR feT 7Y HReI & T &l ¥ hReh TR STeraryg i
fRetRa o=a &2

(a) dhae 2,3 3R 4

(b) dad 2, 3,435

(c) daat 1,2, 33R4

(d) 1,2,3,43R5

b A

37d:- IWehfeaey SIfHTROT & (ITCZ) & deof |

fFafafaa vyl ) foaR &

1. WRd A A&t & HH F, [TCZ s [ R [R¥a
U A garg o1 & € STgt AmuTiRes uae fAerdt
gl

2. ggqméméﬁ%ﬁﬁafﬁﬁzﬁreﬁ?wﬁaﬁ

|

IR o U Al F T T 91/9 98l T8l /87

(a) had 1

(b) a2

(c) 1 3R 2=

(d) Fat1RAE2

fAfafEa sy &R foarR Hifs:

1. féc 7AgrR f§yga (I0D) & FhRIHS =0T &
IRUMIERFY AR R YR 7 3i9d & sifda
auf gidt & ofiR sifeforan & g &t fafa gt &1

2. U 1 & gRomasy MaR R YR § $i9d
g oY guf 3R sifeforar & ifdw auf gt g1

IR U U Al F @ 9 91/3 9et /87

(a) dad 1

(b) Faet 2

(c) 1 3fR2 el

(d) Fat13MRT&2

WR STefarg & e # Ffafed syt w fiar

HifST:

1. ydisie ¥4 Iwrehfesey sraara st WRd i 3R
o STt Bl

2. JHAMEE 9 371 arell 32 gaTd et dh He i |
e TR <t 81

IR U U el A @ i 91/ gl 8/8?

(a) a1

(b) haet 2

(c) 1 3R 2=t

(d) 9at13MRT&2

ﬁmﬁ@awwﬁweﬁﬁq
IR U § W
- Qg

51.

52.

53.

54.

2. = ) @ se - gireft

3. IRk IR - dfeldqR

4. AT URR - Thoikgle

IR Ry U gt 7 § o @ S 98T gAfed 82
(@) dhaer 1 3R 3

(b) Faer 1,2 3R 3

(c) Faar1,33R4

(d) 1,2,33R4

fR=feafaa 3 @ forg T 6 dar IR ey § vt 82
1. gRamom

2. IS

3. BTG

4. IREE

5. feorae uear

12 f&Q 7Y e 1 HAT R et TR AT

(a) daer 1,2 33

(b) &haer 2,3 3R 4

() dhad1,3,43R5
(d) 1,2,3,43R5

f=fafEd gmi iR faer HfSw:
ER&oT & - =
1. IS e - JWR T
2. SRR IISg SERUT - NS
3. 99 axgfd Red - FTR US
4. fooTg 9R T=uSiia S1URuY - fagR
SR T 7Y gt | T fohaw ST Tal gaferd 87
(@) haet 1
(b) had 2
(c) had 3
(d) 573 & @ i TE
IR W § S & dey § Pefaf@d § @ o ar
YT ol 76l 87

(a) ATe SR TATRN St g Aafor & forg
ufig &1

(b) g=vg A A ugrdt ek e & ef@or A
forteelia TTHRER & Y8R UTY STd &1

(c) #TfHepgR & f&ior H# IeTgF # I=a U8 T
g2 YisR fRT &1

(d) STIEUR & YUSR IR UeRT o I<R-Gdl fSiei & urg
S 81

f=feifEa sy &R iR i

1. 2011 &I ST # a9 fomgua auh
fefmrguTa ¥ siferes o

2. 2011 <! SHOET H 29 U U8 7Y I

3. Ig A ol 154t AP FRToET ot

IR f&U U YAl § T i 91/ Il T8l 8/8?

(a) Fad 1

(b) daa2 3k 3

(c) had 2

(d) haa 3
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55.

56.

57.

58.

59.

60.

Consider the following pairs:
Pair 1 — Pair2
1. Year of great divide — 1931
2. First modern synchronous census — 1871
3. Second census after independence — 1971
How many of the pairs given above are not correct?
(a) One pair only
(b) Two pairs only
(c) All three pairs
(d) None of the pair

According to Census 2011, which of the following
states in India had the lowest population density?
(a) Goa

(b) Mizoram

(c¢) Arunachal Pradesh

(d) Sikkim

Consider the following statements with reference to

the Census of Uttar Pradesh, 2011:

1. Those houses which have roofs made of
asbestos sheets can be called Pucca houses.

2. A ‘census house’ is a building having a separate
main entrance from the road.

3. Towns with a population of 50,000 and above
are called cities.

Which of the statements given above is/are

correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3

Select the correct statement from the following

options.

(a) Baiga tribe practices ‘shifting cultivation’ in the
forests.

(b) A part of the Scheduled Tribes, Beldar are
originally from northern parts of India.

(c) The Bhoksa people are indigenous people of
the state of Bihar.

(d) People of Aheria tribe speak mainly Urdu as
they are believers of Islam.

Consider the following pairs:

Terminology — Areas/ States
1. Mango Shower — Coastal Karnataka
2. Bardoisila — Gujarat
3. Nor Westers — Punjab

How many of the pairs given above is/are correctly
matched?

(a) One pair only

(b) Two pairs only

(c) All three pairs

(d) None of the pairs

Which of the following major rivers flow both in
the state of Uttar Pradesh and Bihar?

1. Ghaghara
2. Dhasan

3. Son

4. Tons

61.

62.

63.

64.

Select the correct answer using the code given
below:

(a) 1,2 and 4 only

(b) 1and 2 only

(¢) 1,2 and 3 only

(d) 1and 3 only

Which state of India is the largest producer of rice
after West Bengal ?

(a) Punjab

(b) Haryana

(c) Uttar Pradesh

(d) Bihar

Match List I (City) with List II (famous for
industry) and select the correct answer using the
code given below:

List- I List IT
(City) (Industry)
A. Varanasi 1. Pottery

B. Moradabad 2. Sport items

C. Meerut 3. Diesel locomotives
D. Khurja 4. Brass metal work
Code:
A B C D
(@ 2 3 1 4
® 3 1 4 2
o 1 2 4 3
@ 3 4 2 1

Which of the following countries is ranked second
in terms of milk production after India in the
world?

(a) Brazil

(b) United States of America

(c) Russia

(d) China

Match List I (Mineral) with List IT (District) and
select the correct answer using the code given
below:

List-1 List IT
A. Coal 1. Mirzapur
B. Iron ore 2. Jhansi
C. Andalusite 3. Sonbhadra
D. Felspar 4. Lalitpur
Code:
A B C D
(a) 3 2 1 4
(b) 3 4 1 2
() 2 3 4 1
@1 3 2 4
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55.

56.

57.

58.

59.

60.

1. #gH fare ot adf — 1931
2. Ugdl g THhIfeIch SFRTOAT — 1871
3. WA & G qEY FUHET . — 1971
SR few g gt A F fohat Site wel el 67
(a) hact T gAferd &

(b) et <t FrferT &

(c) gt gafaad

(d) SISt & ig el

2011 &I FUET & AR, 9Rd & FAeffea 7 &
fhT TST o1 SHYET O 9EY Y AT?

(a) Tar

(b) faciRT

(C) SO USST

(d) fafers

IR U Y STHTOMET, 2011 & e o fAmfefea

Y R IR &2

1. o1 == & 5a vEey Fi et T g+t gidl & 3=
UarehT R chgl ST JehdT 5|

2. U 'SIUFT BR' Uk SAR o [oidehl H3d Uasl
&R g U e gIaT &l

3. 50,000 3R I 31fAeh i METT ATt eheall et
LT8R gl ST

IWR AT MY Yl & G i 91/ gl 8/a?

(a) dhaa 1 3R 2

(b) haer 2 3R 3

(c) dad 18R 3

(d) 1,233

fA=fafaa fAeeal & @ T8) sum &1 waq &1

(@) T SIS SHTet & "RIHiaRa @t &d! gl

(b) SrIgfa SHefaal a1 Uk few, SR 9 &9
Y YR & I3 et @ 8

(c) e T fagR Iou o weRft e 1

(d) sreRar sFenfa & & e w9 @ I dield &
ik & ST hl A B

fafed gmt R faaR hifSg:
ATt - /5y

1. M AR - IET FAfedh

2. SR - TR

3. AR I - dol"

SR Ry g gt A & foha wite wel gAfed 8787

(a) had Ueh SISt

(b) Hhad at S8

(c) goft Fa e

(d) e & § I et

frfafRa 7 & o o v it 3R v ofik fagr
QT Tt # Fget 82

61.

62.

63.

64.

12 13 77T g a1 v R HEt ST g
(@) dhae 1,2 3R 4

(b) haet 1 3R 2

(c) daer 1,233

(d) haer 1 3R 3

UfH STTeT o 91G R Rl i<l T IS AT bl Jag
TS IUTEh & ?

(a) deia

(b) gRarom

(c) ITRUS

(d) foEr

T 1 (28%) ot gt 11 (I & forg ufg) & ary
gafea ISy ok 17 &g 717 ge o1 gahT o 98l

S g
-1 g 11
(318%) ()
A. aRToTE 1. Ad Fada
B. WRIETETE 2. @ gt
C. /s 3. 35T dlniHifed
D. guif 4. didet e1g 1 HH
@is:
A B C D
(@2 3 1 4
(b) 3 1 4 2
© 1 2 4 3
(d 3 4 2 1
sy & 9iRa & 918 g7y Iure H 5P @ Ffafea 7
Y AH-ATSA TR R/FT R E ?
(a) smSfier
(b) Tger ST SRRt
() 49
(d) &=
Tt 1 (@fen) @t g 1 (e € gafoa difeg ek
19 QY 7Y e 1 TaNT R FE SR AT
el 1 g I
A. e 1. FSITgR
B. o8 31O 2. g
C. QUSHIEe 3. 9H99g
D. theleR 4, AfTagR
@ls:
A B C D
(@ 3 2 1 4
(b) 3 4 1 2
(2 3 4 1
(d1 3 2 4
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65.

66.

67.

68.

69.

70.

Arrange the following states as per in descending
order of their sugarcane production and select the
correct answer from the code given below:

1. Tamilnadu

2. Mabharashtra

3. Uttar Pradesh

4. Karnataka

Match List I (Crop) with List IT (Largest producing
District) and select the correct answer using the
code given below:

List- I List IT
(Crop) (Largest producing District)
A. Amla 1. Bijnor
B. Orange 2. Pratapgarh
C. Sugarcane 3. Shamli
D. Rice 4. Saharanpur
Code:
A B C D
@3 2 1 4
b)y3 4 1 2
©2 4 3 1
@1 3 2 4

Which of the following coffee varieties grown in
India has more aromatic qualities and grown at
higher altitudes ?

(a) Arabica

(b) Robusta

(c) Liberica

(d) Mocha

Which of the following statements is/are correct

regarding rare earth metals?

1. Rare earth metals are group of 17 chemical
elements found in the earth’s crust that are vital
to many modern technologies.

2. India is the largest producer of rare earth
elements in the world.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both 1and2

(d) Neither 1 nor 2

‘Which of the following is the leading trade partner
of India from which India also possesses the trade
surplus?

(a) China

(b) US.A

(c) UAE

(d) Saudi Arabia

‘Which of the following cities of India is a planned
city?

(a) Bangalore

(b) Kanpur

71.

72.

73.

74.

75.

(c) Bhopal
(d) Chandigarh

Which of the following factors cannot be called a
pull factor for migration?

(a) Better Economic Opprtunities

(b) Political Opportunities

(c) Persecution

(d) Religious opportunities

Which of the following statements are correct

about wetlands on Uttar Pradesh?

1. Uttar Pradesh with latest addition of Bakhira
Wildlife sanctuary into Ramsar Sites has total
10 Ramsar Sites at present.

2. Sandi Wildlife Sanctuary is the first Ramsar
sites of Uttar Pradesh.

Select the correct answer using the code given

below:

(a) 1only

(b) 2 only

(¢) 1and 2 both

(d) Neither 1 nor 2

Which of the following Tiger reserve is not located
in Uttar Pradesh?

(a) Dudhwa Tiger Reserve

(b) Pilibhit Tiger Reserve

(c) Rajaji Tiger Reserve

(d) Amangrh Tiger Reserve

Consider the following statements:

1. Sonbhadra has the highest area under very
dense forest in Uttar Pradesh.

2. Basti district has the least forest cover in the
state of Uttar Pradesh.

3. Lakhimpur Kheri has overall maximum forest
cover in Uttar Pradesh.

Which of the statements given above is/are

incorrect?

(a) 1and2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d 1,2and 3

Which of the following statements is/are correct
about Uttar Pradesh in reference to Census report
20117

1. Uttar Pradesh has 17.73 % of area of the
country.

2. Ghaziabad is the most populous whereas
Chitrakoot is the least populous district of
Uttar Pradesh.

3. Decadal population growth rate in Uttar
Pradesh is lower than the country average
decadal population growth rate.

Select the correct answer using the code given

below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 1,2and 3

(d) None of the above
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65.

66.

67.

68.

69.

fAafafaa gl ot I =1 IaTed & Sra”ie! By |
AT 2 3R i T U Sl T Tt IR o1 984
&

1. dfEeTg 2. AgRTE
3. IWue 4. Ffeh
CocH

(@ 3,2,1,4

(b) 2,3,4,1

() 3,2,4,1

(d) 1,3,2,4

T 1 (heet) S g 11 (T 92T Imedh forem) @
gAfed Sifeig iR =i Ry 1Y e o1 v o @@t
IR AT

gHi- 1 gt 11
(FEe) (TR F21 34TSR i)
(A) Sriger 1. fasHR
(B) EaxT 2. UdIuTg
(C) =T 3. AT
(D) et 4. GgRAR
&Is:

A B C D
(@) 3 2 1 4
(b) 3 4 1 2
(c) 2 4 3 1
(d) 1 3 2 4

YRA H I8 oA areft fAm=faf@a § o forg s &t
forer & aifdrer Gf-ara 7oT 81 8 SR Sifdies e W
EUIERSIGIR-
(a) SRfsenr
(c) ferafRent

(b) AezeT
(d) et

g oI g1t & gey # AEfefed & & @ av/d

U ot /87

1. gAY #&T 91 geet Sl gust | Ug S aret 17
TTafen Ical T THg & STt ohs STeYfAch dehritehl
o forg Heayguf 81

2. HRd gu¥ &l I ol [y # Tad 98T I o

1 faQ 7T e 1 gaT R et IR 9T

(a) had 1

(b) Faet 2

(c) 18R 2 el

(d) Fat13MRTE2

et & & & a1 wRa o1 W@ R vrfier @
SIo® wRA & U9 AR rfAiy oft 87

(a) ==

(b) ZTE.Y

(c) TgH SRS HRIT

(d) TET IRT

A=fafea § @ vurd o1 o= a7 gR FafSid R 8?7

71.

72.

73.

74.

75.

(a) TR (b) YR
(c) «ura (d) TEhTe

fAfaf@a 3 @ fhg FRS ot varae & fAw smats
Rk 61 gl SIT JehdT 87

(a) dgaR 3nfefer TR

(b) TR SraTR

(0) Sadte

(d) enfife sraaR

f=ffed & & o9 91 HYF IR U R SIS &

R H Tl 87

1. IR ! § SR g=geiig 1Ry & Tdi-aq
S o 1Y I U # IAE J FeT 10 TR
A gl

2. il aRSig SR IR UM T UgaT JTHAR
A Bl

12 3T 77T g a1 T R HEt SR g

(a) Pad 1

(b) had 2

(c) 13R2Hf

(d) Fat13iRag2

fA=fcifed & @ & 91 aeR Red W uew # fR¥a
Tl 82

(a) gudrTgTR fkeid

(b) dicftafiq ereTR Rerd

(c) reTrStt EER RS

(d) 3™ TFR Red

fAafofea sy ® far Hifs:

1. IR UL T U gl & Siaifd T ol SThe
qaifdeh gl

2. IR UL I B g&it St & gad e a7 &7 81

3. QR IR A IR U A Ged AfYhaH

&7 8l

IWR T Y Y=l & ¥ 9 91/F Ted /87

(@) thaa 1 3R 2

(b) haa 2 3R 3

(c) dhaa13iR3

(d) 1,23R3

STOET ROtE 2011 & ded & IR wer & IR H

fAafofed 8 @ o9 qv/d ou= 98l 8/8?

1. IR U F A H 17.73% SAH g

2. TSHTETE GeY 3ifdeh STETET are St 8 STafch
fATdhe ITR U &1 T A TSI Tl foretT &

3. ITR UG H SRR SHUEAT g & 387 i 3fad
TG SHHET gieg = d A B

12 f&Q 7Y e 1 T R et SR AT

(@) dhad 1 3R 2

(b) daa2 3k 3

() 1,233

(d) U # ¥ IS gl
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76.

77.

78.

79.

80.

Which of the following statements about Indian

Drainage System is/are correct?

1. Damodar river has rift valley in its course.

2. Barakar, Bhima and Jamunia are the
tributaries of the Damodar valley.

3. Rajarappa Shakti peeth temple situated on the
confluence of Damodar and Barakar rivers
near Rajarappa falls.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) None of the above

Which of the following rivers is notorious for
hazardous flooding and course shifting?

(a) Mahi

(b) Gandak

(c) Son

(d) Koshi

Match List I (River) with List IT (Source Region)
and select the correct answer using the code given
below:

List-I List IT
A. Jhelum 1. Janapav Hills
B. Chambal 2. Kunzun pass
C. Cauvery 3. Verinag Spring
D. Spiti 4. Brahmgiri hills
Code:

A B CD
@ 2 3 1 4
b)) 3 1 4 2
o 1 2 4 3
@ 3 4 2 1

Match List I (River) with List IT (Tributary) and
select the correct answer using the code given
below:

List- I List IT
A. Godavari 1. Dhansiri
B. Jhelum 2. Lohavati
C. Kali 3. Kishanganga
D. Brahmputra 4. Indravati
Code:

A B C D
@ 4 3 2 1
b)) 3 4 1 2
o0 4 3 1 2
@ 3 4 2 1

Which of the following is/are tributary/tributaries
of Yamuna?

1. Betwa
2. Son
3. Ken

Select the correct answer using the code given
below:

(a) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3

81.

82.

83.

84.

85.

Consider the following statements in reference to

climate of Uttar Pradesh:

1. As per Koppen’s classification Uttar Pradesh
comes under Monsoon type with dry winter
climate (Cwg).

2. Latitude, Pressure and Winds along with
continental effect are responsible for providing
Uttar Pradesh with a tropical monsoon
climate.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following statements:

1. Uttar Pradesh receives the all of its
precipitation from the south-west monsoons.

2. Mathura district receives the least amount of
precipitation in Uttar Pradesh.

3. The district of Balia receives the highest
precipitation in Uttar Pradesh.

Which of the statements given above is/are

correct?

(a) 1and 2 only

(b) 2 only

(c¢) 1and 3 only

(d) None of the above

Which of the following Uttar Pradesh regions has
the greatest proportion of Net Irrigated area to Net
Sown Area?

(a) Central

(b) Bundelkhand

(c) Eastern

(d) Western

Which of the following pairs of soil types and local
names in Uttar Pradesh is not correctly matched?
(a) Alluvial soil - Jalodh

(b) Saline and Alkaline soil - Mar

(c) Redsoil - Parua

(d) Blacksoil -Kabar

The Shaheed Asfaq Ullah Khan Zoological Park
opens to the public on March 27, 2021. Which city
in Uttar Pradesh it is located?

(a) Agra

(b) Lucknow

(c) Gorakhpur

(d) Kanpur
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76. YR 3UaTg dF & IR # FAEfafEa # @ o g/ 12 13 77T g a1 v R HEt ST g
&Y ot /87 (a) dad 1
1. TR 78 & AN § RR 91él 8| (b) FaeT2 3R 3
2. R, i ok ST gier =T i g (c) daa1aR3
afear g1 (d) 1,233
3. TORWT YU & U MG 3R SR At &
G R oRwT fkidis #fe [ 81 81. IR U Hl Ferarg & T # Fmfofad st R
2 37 7T Fe @1 v R gE ST g faR fifS:
(a) Fad 1 1. U & ffeol & AR ST U YR
(b) a2 3R 3 fiqahren= STerarg (Cwg) & A1 AT UHR &
(c) ohaer 18R 3 I AT &
(d) U & ¥ >lE 8l 2. HEIEIMN UWE & GIY-91Y SR, arRjard Jul
U IR TRl IWT Ffedefiy A Serarg
77. F=faf@a s &F @ 9 @d=Ae 916 3R 77 s TS e & forg I &1
& fog a2 IR T MY YT & ¥ hiH 91/9 Tel /87
(a) ! (a) hae 1
(b) TisH (b) Faet 2
(c) 9= (¢) 13R2aHf
(d) episft (d) Fat13RAE2
78. gt (7€) Y g I (S &) & 91y gRfod o 8k 82. f=fiEd Tyl R =R Sifsig:
=2 3T 77T g 1 v R GEt SR - 1. IR R o gt auf gf&ur-ufgm amgm @
-1 g1 Tt ST g
A. FeH 1. SHTUa fged 2. IR UG H AR et 7 Fad A auf gl 81
B. d&« 2. T U™ 3. IR YR o dferdr foiet # qaffdres asf gidt 81
C. T 3. IR FRAT IR T MY YT & T b9 91/9 el /87
D. @fifa 4. St ugtfsar (a) haer 18R 2
&is: (b) had 2
A B C D (€) thaa 1 3R 3
A2 3 1 4 (d) ST & § @I el
(B) 3 1 4 2
(€ 1 2 4 3 83. M=fifEd # ¥ IR Uy & fha & # fga Rifka
D)3 4 2 1 thel hT [Aaet S8 T8 &5thel § Haffdeh S1uTd 82
(a) HE
79. T 1 (38 @ G 11 (Terres 7d) @ gafera fifsg (b) Jeerds
3 12 forg 71q e T wraihT o ) SRR g (0 ot
Tt 1 T I (d) ufgyef
A, TeEd 1. o=l
B. s 2. digrad! 84. IR USUH M & yeR R T A & F=fafaa
C. ohreft 3. foherim St # T i 7 T8t &1 ¥ BeT gl Wi 87
D. sggd 4. Zaradr (a) Siefie gt - STetle
ws: (b) wavfta ok emg A - AR
A B C D (c) et At - uzam
(A) 4 3 2 1 (d) EFIPﬁﬁ@Eh‘ITsR
(B) 3 4 1 2
Q) 4 3 1 2 85. <UgIg I Ioell W UTuft Jer 27 A1, 2021 ot
(D) 3 4 2 1 ST o ol Gl 171 I8 IR T o fohd e | [Ra
&7
80. fmfafed # @ dF-I a1 Fi Tgrw/agred T4t (a) SIFRT
8/8? (b) wr@TS
1. dqar (€) TRER
2. 94 (d) dFR
3. &
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86.

87.

88.

89.

90.

91.

92.

Match List I (Revolution) with List IT (Related to)
and select the correct answer using the code given
below:

List-1 List IT
A. Blue 1. Petroleum
B. Grey 2. Fisheries
C. Black 3. Fertilizers
D. Red 4. Meat
Code:

A B CD
@ 2 3 1 4
® 3 1 4 2
o 1 2 4 3
@ 3 4 2 1

‘Which of the following state is not the beneficiary
of Hajira-Bijapur-jagdishpur (HBJ) Gas Pipeline
constructed by Gas Authority of India limited?

(a) Madhya Pradesh

(b) Odisha

(c) Uttar Pradesh

(d) Rajasthan

The Indian Institute of Pulses Research is located
in which city?

(a) Varanasi

(b) Lucknow

(c) Jhansi

(d) Kanpur

Which of the following National Highway is
having maximum lenght in Uttar Pradesh?

(a) NH-24

(b) NH-3

(c) NH-7

(d) NH-28

Which of the following city of Uttar Pradesh does
not have software technology parks at present?

(a) Prayagraj

(b) Varanasi

(c) Lucknow

(d) Kanpur

Consider the following statements which mean by

environment.

1. An interacting system of biological, physical
and cultural elements that are interrelated.

2. The natural world of air, water, land, plants
and animals that exist around them.

3. The sum of all the conditions that a person is
in at a point of time.

‘Which of the following statement(s) is/are correct?

(a) 1 only

(b) 3 only

(c) land2

(d 1,2and 3

Which of the following activities are included
under cultural environment?

(a) Economic activity

(b) Social activity

(c) Political activity

93.

94.

95.

96.

97.

98.

(d) All of the above

After the recommendation of which report related
to environment in the United Nations in the year
1987, the discussion on 'Sustainable Development'
started?

(a) Our common future

(b) Second report on climate change

(c) First report on climate change

(d) Fifth Evaluation Report

Sustainable development is a matter of inter-
generational sensitivity with respect to the use of
which of the following?

(a) Physical Resources

(b) Natural resources

(c) Industrial resources

(d) Social resources

Consider the following statements.

1. Photosynthesis does not add to the amount of
carbon dioxide in the Earth's carbon cycle.

2. The most important role of solar radiation is in
the water cycle.

3. The amount of rain depends on the moisture in
the atmosphere.

Which of the following statement(s) is/are correct?

() 1 only

(b) 3 only

(c) 1and2

(d 1,2and 3

When among the following was the National
Green Tribunal (NGT) established by the
Government of India?

(a) 2011

(b) 2012

(c) 2010

(d) 2009

With reference to ecology, consider the following

statements.

1. Ecology is the study of interactions between
organisms and the environment.

2. The concept of ecosystem was proposed by G.
Taylor.

3. Anecosystem is a closed system.

Which of the following statement(s) is/are

incorrect?

(a2) 1only

(b) 3 only

(c) 1land2

(d) 2and 3

Which one of the following is an artificial
ecosystem?

(a) Forest

(b) Pond

(c) farm

(d) none of the above
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86.

87.

88.

89.

90.

91.

e 1 (shifa) ot gt 11 (Sefed) & gafed Sy ok
12 f&Q 7T e @1 gIT R et SR 9T
-1 g 11
A. el 1. Ueiferm
B. ‘{é’r 2. A UTeA
C. 3. IR*
D. & 4. |99
aﬁ-g.

A B C D
(@) 2 3 1 4
(b) 3 1 4 2
(o 1 2 4 3
(d) 3 4 2 1

fFfafaa § @ 9 91 g YR 19 wifdeRor gr
A gotRT-aSITqR-STEIIgR (HB)) ¥ UTSuelts ot
arareff 981 87

(a) LT Uer

(b) Snfsam

(€) TR TSI

(d) ISR

VR Gelg gHU™ ST fohe ez A d 82
(a) ROt

(b) TETH

(c) st

(d) AR

fafafea & 9 fha TEfia Tomnt 6t darg 3R uesr
T gad 31fde g7

(@) NH -24

(b) NH -3

(c) NH -7

(d) NH -28

IR Ul & AEffead # 9 g e & gda= &

T daR Uenfih ureh gt 82
(a) TATRTST (b) arRToT}
() TE@TH (d) PEYR

fAfafEa syl &R fiarR &Ry SepT yafaror @

SifATmT g1

1. Sifahr, «ifde Td Giepfae ddl &t e
fohaTceh agawT, STt Sk Tefdd gid &1

2. d1g, S, Y[, diet gd uggen & uepfaes gfar
ST 31 IRY 3R Jifiaa | g1

3. O aoft gqensi o1 gt it afe bt ge e foig
R IR gu il 81

379 9§ &9 QI/T Y Tgl 8/87

(a) dad 1

(b) haa 3

() 138R2

(d) 1,23k 3

92.

93.

94.

95.

96.

97.

98.

f=fafea & @ giepfae uafaror & siafa e <t
nfafafeat anfae gidt &2

(a) smfdfes nfafafdr

(b) TmTfSIas wfafafe

(c) Torifaes nfafafer

(d) Sufert |+t

ffefea & & ¥gea g & 9 1987 # waferor @
faepra’ (TRAeeT Saeiude) W == 3RY 57

(a) STER TMAT TR

(b) STefarg uRad wR gudt Raté

(c) STefarg uRad R gl Ruté

(d) diTdt gegied Ralé

fAafafed 7 g fFg & Suaiv & deof F urofig
e siaR-diéhTa Taeafierar & fawa &2
(a) ifaes gameq

(b) v T

(c) oftenfie Tame=

(d) GrfSies Tamed

f=fefEa i &R foeR &Ryl

1. TIChIST HSINUT et & eh1ei-l dsh A hle
SIS3HTRATSS <hl TTAT & T8l TeIdT 8l

2. R fafehzor &t ga< Agaqut T ST ask |
gl

3. auf chl AT agHES # THT R R et 81

378 § & g/8 YT Tgl 8/8?

(a) &hae 1 (b) Fa 3

() 13R2 (d) 1,233
fefeifea & & o Ama 19 fesgme (Tsiier) Ra
WHR gRT AT fohar mar ar?

(a) 2011 (b) 2012

(c) 2010 (d) 2009

TIRfRAfIER & Geof # Rmfafad el R R &2

1. Ui Sfia ok ardreror & S urRwRe
e} o1 ST gl

2. UIRfAfIE &5 &t Geheust ot St EeR 7 u=aifaa
fomam

3. Uiy 45 gk & dF g 2

379 9 B 91/T YA T 8/87

(@) haet 1 (b) a3

(c) 132 (d) 23R 3
fr=fefEa & & -1 g pfam aikda 82
(@) a4

(b) drele

(0 &

(d) S | ¥ IS g

s CALL: 0522-4623578
- 9911999187

Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

Indian Geography, Environment and Ecology | 18




99.

100.

101.

102.

103.

104.

105.

Which of the following is the most stable

ecosystem?

(a) Sea (ocean)

(b) Desert

(c) Mountainous

(d) Forest

With reference to Biodiversity, consider the

following statements.

1. Biodiversity is defined as the range of different
species in an environment.

2. Among the mathematical indices used to
measure biodiversity, the gamma index
represents the mean species diversity in a
community/habitat at a local level.

Which of the following statement(s)

incorrect?

(a) 1 only

(b) 2 only

(c) land2

(d) neither 1 nor 2

is/are

Which of the following is the most biodiverse
region in India?

(a) western ghats

(b) Central India

(c) Trans Himalaya

(d) Ganga plains

‘When is the World Biodiversity Day celebrated?
(a) April, 16

(b) May, 22

(c) June, 23

(d) March, 22

Consider the following statements.

1. In our country, the population data is collected
through the census which is held after every 10
years.

2. Main worker is a person who works for at least
183 days (or 6 months) in 1 year.

Which of the following statement(s) is/are correct?

() 1only

(b) 2 only

(c) 1land2

(d) neither 1 nor 2

Consider the following factors of migration.

1. Floods, droughts, cyclonic storms,
earthquakes are credit factors for migration.

2. Better opportunities Getting regular work
Relatively high wages are the disincentives for
migration.

Which of the following

incorrect?

(a) 1 only

(b) 2 only

(c) land 2

(d) neither 1 nor 2

statement(s) is/are

‘What was the percentage of level of urbanization in
India in the year 20117

106.

107.

108.

109.

110.

111.

(a) 31.16%
(b) 23.19%
© 19.3%
(d) 28.14%

Parvati Arang Bird Sanctuary is located at :
(a) Sitapur

(b) Gonda

(c) Hardoi

(d) Saharanpur

Match the following pairs :

(a) Nawabganj Bird Sanctuary (1) Agra

(b)Chandraprabha Wildlife Sanctuary

(c) Samaspur Bird Sanctuary (3) Unnao

(d) Keetham Lake

A
() 3
(b) 3
(c) 3
@ 3

= =g
SN NS
r—*l\)l\)l\)u

Which of the following is the district of Uttar
Pradesh with minimum forest percentage?

(a) Mainpuri

(b) Sant Ravidas Nagar

(c) Sonbhadra

(d) Pilibhit

Consider the following statements:

(1) Sonbhadra district of Uttar Pradesh covers
36.79% of the total forest area of Uttar
Pradesh.

(2) Chandauli district of Uttar Pradesh is the
second most forested district of Uttar Pradesh
with 22.25% forest area.

Which of the above statements is/are not correct:

(a) 1Only

(b) 2 Only

(c) Both

(d) None of the above

The tomb of Lord Cornwallis is situated at :
(a) Ghazipur

(b) Lucknow

(c¢) Secunderabad

(d) Awadh

Among the Navratnas of Akbar, the persons
belonging to Uttar Pradesh were:

(a) Mulla Do Pyaza

(b) Birbal

(c) Raja Todarmal

(d) Abul Fazl
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99.

100.

101.

102.

103.

104.

el d @ g sifde R oikfRfad d a4
qrg?

(a) TR (WETETR)

(b) Tl

(c) uddim

(d) @

Jg fafdear & deof # F=fafad sy R AR

S

1. o fafdear o) fordt gaferor & fafv= genfaat
& ioft & =g § gRenfg forar siar &1

2. St fafqear amo & wforda ot J T
Yahich Goh RITHI TR W fohelt IHar/smarda
& o mren vTfa fafderar &Y garfar g1

39 9 S QI/T YA TTAd 8/87

(a) a1

(b) a2

(c) 132

(d) Tat1 3RS 2

frfafRd § @ R & 99 oifdes S Rifdyar 9=
& o 91 &7

(a) uiget ame (b) FETg R

(c) giw feamera (d) 7T & A

fy St fRAfeydar Raa sve w=maT SiTar 27
(a) S, 16 (b) w8, 22
(c) s, 23 (d) IITET', 22

fAfafEa sy &R faarR Sl

1. BHR S H SHAAT & sl ol Ufd 10 a9 a1g
B aTelt SFRTUMT gRT Tehfd fahar Sirar 81

2. & yffh ag afarg st 1 99 # &9 & A 183
&7 (a1 6 7ER) HH FRaT B

374 9 &IF Q1/3 hYF Tal 8/8?

(a) had 1

(b) a2

(c) 13R2

(d) Fat1eRag2

fafefea uarg & Rl R foaR fifsa)

1. dI1¢ @ FehdTd! UM Hehd Uard & Ufd o
FRE gl

2. dgaR R Faffa s o1 e sidarmegd e
a1 U9 oh UGS R g |

9 @ 9 9I/A Y Td /87

(a) hae 1 (b) dhad 2

(c) 18R2 (d) Fat1 efRaE2

105.

106.

107.

108.

109.

110.

¥ 2011 & YRd § TRIeh0T Sh TR <hl UTATd RIT
aT?

(a) 31.16% (b) 23.19%

() 19.3% (d) 28.14%

grddt 3T geft SRy fRq 8:

(a) AR

(b) =T

(0 &g

(d) FERAGR

fr=fafea gmt « gafaa sk

(a) aTerisT Ueft SraRug (1) SR
(b) TSUHT T=TST ARV | (2) TFal
(c) THEYR veft srRug (3) 9@
(d) A sha (4) Tetelr
A B C D

(A) 3 1 4 2

(B) 3 4 1 2

Q) 3 1 4 2

(D) 3 4 2 1

ffefea & IR uer o1 —geaw g+ ufasra aren

SHUT &

(a) AgH (b) T e R

() |HY9e (d) diefefia

fFEafaf@a sy ) AR wRku:

(1) TR UGN T TS SHUG IR U0 & Sl a
&3 T 36.79% T &F IATDTed el 2

(2) IR UL hI detel! SIS 22.25% T &%l &
1Y ITR UL I -1 Jad Hfdeh aaresticd
S gl

IWRIad | ohi- 9T Sy Tgl gl 8:

(a) haet 1 (b) Faet 2

(c) @t (d) STRYeT & IS T

AT FHaTed ol HehaRT AT 8:

(a) TSfigR

(b) TS

(c) RrheEmE

(d) sr@y

111. 3fheR & TR B IR U T AT aafary o

(b) SR
(d) 31T TroTeT

(a) Toom & @S
(€) ST ASHA
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112.

113.

114.

115.

116.

117.

118.

Consider the following statements:

1. Lucknow, the capital of Uttar Pradesh, is
known by the nickname of the city of gardens.

2. Kanpur is known by the nickname of the city
of mangoes.

3. Ballia district of Uttar Pradesh is also known
as Baghi district.

The correct statements in the above is/are:

(a) 1and 3 Only

(b) 2 Only

(¢) 2and 3 Only

(d) All of the above

Birju Maharaj was associated with :
(a) Delhi Gharana

(b) Lucknow Gharana

(c) Banaras Gharana

(d) None of the above

Consider the following statements:

1. The state of Uttar Pradesh has a population of
19.33% minorities.

2. Uttar Pradesh has the fourth place in the total
slum population of the country.

Which of the above is/are not correct:

() 1Only

(b) Both

(c) 2 Only

(d) None of the above

The largest coal reserve of the state of Uttar
Pradesh is located at :

(a) Lalitpur

(b) Sonbhadra

(c) Chitrakoot

(d) Baghpat

Consider the following statements:

1. Indira Gandhi National Flying Academy is
located at Fursatganj Amethi.

2. Hindon Air Force Station is located in
Ghaziabad district of Uttar Pradesh.

3. Kalyanpur Airport is located in Kanpur.

The correct statement in the above is/are:

(a) 1and 2 Only

(b) 1and 3 Only

(¢) 3 Only

(d) All of the above

The only nuclear power station of Uttar Pradesh is
located at :

(a) Narora

(b) Meerut

(c) Baghpat

(d) Pilibhit

Uttar Pradesh Export Corporation Limited is
located at :

(a) Kanpur

(b) Varanasi

(c) Lucknow

(d) Ghaziabad

119.

120.

121.

122,

123.

124.

The number of Nagar Panchayats in Uttar Pradesh
is:

(a) 445

(b) 437

(c) 435

(d) 431

Consider the following statements:

1. Uttar Pradesh has the second place in India in
terms of length of National Highways.

2. In terms of length of National Highways,
Karnataka holds the first position in the
country with a length of 18000 kms.

3. National Highway-19 is the longest highway of
the state whose old name was National
Highway-2.

Which of the above statements is/are not correct:

(a) 1and2 Only

(b) 2 Only

(c) All of the above

(d) 2and 3 Only

Which medal has been won by Neeraj Chopra in
the men's javelin throw event at the World
Athletics Championships?

(a) Gold Medal

(b) Bronze medal

(c) Silver Medal

(d) None of these

Which  state  government launched the
'Mukhyamantri Nagar Srijan Yojana'?
(a) Haryana

(b) Uttar Pradesh
(c) Karnataka
(d) Maharashtra

Consider the following statements about 'India

Innovation Index 2021'-

1. India Innovation Index is released by NITI
Aayog.

2. Kerala ranks first in the category of 17 major
states.

3. Uttar Pradesh ranks 7th in the category of
major states.

Select the correct statements from the codes given

below

Code:

(a2) 1only

(b) 2 only

(c) both 1 and 3

(d 1,2and 3

The biggest mall of North India 'Lulu Mall' was
inaugurated in which city?

(a) Lucknow

(b) Prayagraj

(c) Kanpur

(d) Gautam Buddha Nagar
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112.

113.

114.

115.

116.

117.

118.

fA=fafEa sy wR foeR sRa:

1. IR YR i ASTYTT ARG, aht AT T ST
IUATH T STHET ST 8

2. YR hi SATHT T G & IUAT & ST ST &

3. IR U & IferdT Siug ot aift fSem & wu &
oft ST ST B

SWRiad | gl YA 8.

(a) Fadt 1 3R 3

(b) Fast 2

(c) dhae2 3R 3

(d) St gaft

SRS HERIST a1 Faer o
(a) feeett ermT
(b) TGS TR
(C) SHRY TR
(d) Suter H @ ahlg g1

fafefea sl wR faar wiku:

1. SR USRI IS H 19.33% STeULREh] ht
SIS g1

2. 3 F el AN STl H IR TR T AT R
gl

SWied H i< 91 Tg! Tal &:

(a) hae 1

(b) =t

(c) haet 2

(d) Sua # S e

IR UL AT T Y IS8T hiell ¥R T &:
(a) @feragr
(b) SFYE
() faege

(d) srTaa

fAfafEa vyl &R foeR sRa:

1. e i Tt I SrepTeH} pRryariST sTdt A
a8l

2. fEe I8 RH IR U & MISITeTg S g
A fRa gl

3. SR TIRUE AR H [T 81

SWIed H It A &

(a) dhaer 1 3R 2

(b) Fat 1 3R 3

(c) Fat3

(d) St gaft

TR UG T TRATS URATY] ol e T &:
(a) KR

(b) s

(c) «mTaa

(d) dicfefta

IR wear fafa e fafads iR &

119.

120.

121.

122.

123.

124.

(IGECE R
(d) mfSHaTETe

IR URRT H TR UAradl &l 9 8
(a) 445
(b) 437
(c) 435
(d) 431

fAafafaa sy = foaR &R

1. T TSHET Gl Ad18 o A J YR # IR
2T ST GERT ©IF gl

2. e I i arg & A H ehetess 18000
foRettHTeR <t e o AT 331 H U I [@dT
gl

3. IE IonT-19 IS T TEG QT ASTHT §
ST o1 QAT AW TE ISHERT-2 o

IRt # I 1 Y+ Ig) T8l &

(@) Paad13R2

(b) a2

(c) SWRiaa g+t

(d) dhaet 2 3R 3

fasy gydifead Ifmmfm & #Rer Stuer & geui &
Tl Theh Tl § ehl IT Ugeh SftaT 8?2

(a) w@ufugash

(b) i¥ UGh

(c) ISTd Uceh

(d) 38 & %I el

LI I TS?

(a) gfamom

(b) ITRUET

(c) e

(d) #ErTE

'3fear gdem 29 2021 & IR # fA shel wR

faR HfSe-

1. 3f3ar sAdE S3a AT ST gRT SR fekan
SIGIE]

2. 17 yHE <At i Aofl § IRel g ®IF R 8

3. v wsal dh Hoft § IR veer & 78t wIF gl

12 3T 7TQ ge & TEt wUAT A1 TIH B

Fe:

(@) haet 1

(b) a2

(c) 13R3gf

(d) 1,233

ER F fehar mar?
(@) d9TH
(b) TR

() PR
(d) A g TR
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125.

126.

127.

128.

129.

130.

131.

Consider the following statements about 'State
Ranking Index for National Food Security Act
(NFSA), 2022'-

1. This is the first edition of the State Ranking
Index for the National Food Security Act
(NFSA).

2. Uttar Pradesh is second in this ranking.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 2 only

(c) both 1 and 2

(d) neither 1 nor 2

Which of the following has been declared as the
country's 'first Har Ghar Jal district?

() Ujjain

(b) Prayagraj

(c) Burhanpur

(d) Rewa

Which company has developed the 'EV Mitra'
mobile app?

(a) Ola Electric

(b) Tata Motors

(c) BESCOM

(d) Hero Electric

Consider the following statements about '68th

National Film Awards, 2020'-

1. Suriya and Ajay Devgan were jointly awarded
the Best Actor award.

2. Aparna Balamurali was awarded with the Best
Actress Award.

Select the correct statements from the codes given

below

Code:

() 1only

(b) 2 only

(c) both 1and2

(d) neither 1 nor 2

‘Which state's Kai Chutney has been given a GI tag?
(a) Assam

(b) Jharkhand

(c) Odisha

(d) Chhattisgarh

In which state / union territory, the statue of
Swami Ramanujacharya "Statue of Peace" was
unveiled?

(a) Puducherry

(b) Uttar Pradesh

(c) Rajasthan

(d) Jammu and Kashmir

Consider the following statements about 'Pariksha

Sangam Portal'-

1. Pariksha Sangam Portal has been launched by
the Central Board of Secondary Education
(CBSE).

132.

133.

134.

135.

136.

2. The Pariksha Sangam portal will provide
assistance to students to check 10th and 12th
class board results easily.

Select the correct statements from the codes given

below

Code:

(a) 1 only

(b) 2 only

(c) both 1and?2

(d) neither 1 nor 2

Where was the Mango Festival-2022 organized?
(a) Pune

(b) Lucknow

(c) Bhagalpur

(d) Varanasi

Consider the following statements about
'Bundelkhand Expressway' -
1. The Bundelkhand Expressway was

inaugurated by Union Minister Nitin Gadkari
at Kaithari village in Jalaun district in Uttar
Pradesh.

2. Bundelkhand Expressway passes through 7
districts.

Select the correct statements from the codes given

below

Code:

(a) 1 only

(b) 2 only

(c) both 1 and?2

(d) neither 1 nor 2

Maritime Partnership Exercise (MPX) was

conducted between two countries-

(a) Japan - India

(b) Singapore - India

(c) Australia - India

(d) USA -India

Who was appointed as the flag bearer of the Indian
contingent for the opening ceremony of the
Commonwealth Games 2022 held in Birmingham?
(a) Harmanpreet Singh

(b) PV Sindhu

(c) Bajrang Punia

(d) none of these

Consider the following statements about 'Global

Sustainable Development Report, 2022'-

1. It is published by a group of independent
experts in the Sustainable Development
Solutions Network (SDSN).

2. India ranks 120th in this report.

3. The first place in this report is of Finland.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 1and 3

(c) 2and 3

(d 1,2and 3
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125.

126.

127.

128.

129.

130.

131.

ST @Ter gren A (NFSA) & ford s I

Yahich, 2022' & IR # 7 & iyl R AR

Hifsrg-

1. I8 PR @rer QR AfAfgs (NFSA) & ford
sy T Yehich i TUH HERT

2. =G IAHT H IR U P T =

I faQ 71U e & et FHYAT 1 I B

Fe:

(a) haet 1

(b) a2

(c) 1R 2=t

(d) a1 siRT2

227 T UG &% R ST foten fAfafea 7 @ faa
aifta fomar mar?
(a) 3o

(€) REMR

St fr HiaTser WU fohg ot 3 faen T fram 82
(a) SfteT sAfaeen

(b) e Aed

(c) S%wpim (BESCOM)

(d) ERY sAfeem

(b)EI'CIFIﬂ\_rr
(d) S

'689 IEN fthedt REAR, 2020' & R A 7 FHol

R far HifSe-

1. gaf qd 3o/ o ot HYad ©U 9 9998
AT T YRERR UM forar |

2. YU} STATHRe! hl TIHE SHTHAAT ohl GRERR
ue foRar mam)

I faQ 71U e & et Rl 1 T B

Fe:

(a) had 1

(b) haet 2

(c) 18R 2=t

(d) Fat18RT2

forg var &Y h1E T Rt GI 31 Y fomar mar 27
(a) orEH (b) 3IRGs
(c) snfem (d) sfaTe

STERYT fohd Tred/hvs; Alia wder # fowarm mar?
(a) g (b) IR Ud
(c) IoT=RIE (d) S AR

"Te S Ui’ & IR # fAEfafad syl w e
hifSg

1. areafie fAem S (CBSE) gRT U<tetr Iy
Tt = o mam g1

2. Uen 9 uiéd Bl @t 104t iR 124 s &
1S & aRomHT 6 mrET § St oA & ggradr
e &I

132.

133.

134.

135.

136.

2 g 77T ge & TEt wYAT A1 T B
He:

(a) dad 1

(b) haet 2

(c) 13R2a

(d) Fat13iRaT2

3T AgIcTd-2022 gt maifSid fomar mar?
(a) gor (b) TS
(C) HRTIR (d) aRTorft

'YeeREE THRINE-d' & IR H 1 el R AR

Hifoe -

1. Hherg T3t AfaT et gRT IR UeRT H Sied
St & et i & gerds aIg-d FI Iged
fomam i

2. oS UaN-a 7 St § gione TeRdT 8l

2 f&Q 1Y e & Bt HYAT T TIA B

He:

(a) Fad 1

(b) a2

(c) 13R2aHf

(dy Far18iRa2

TG SISIGRT ST (MPX) &1 STrater o af gt
& st forar mar?

(a) SIUE - YRd

(b) RATGR - ¥Ra

(c) Smfern - wRa

(d) IgQHY - 9Rd

gftfaw & omaifSid IpHse Wer 2022 & 3IgTed
TARIE & oI R & T easTaTgh

forer forger foma wram am?

(a) swHid fdE

(b) didht ¥y

(c) SR gfaT

(d) 3% & IS T

3fYer Tad faema Ruté, 2022' & IR § A wyt

R foaR fifse-

1. Ig 9dd [ah GATY Aeadh (SDSN) # wds
faiw=t o Yok g gRT UehIfAd <l STt 81

2. 39 RUlé d vRa &1 120 af H gl

3. 39 Rulé d ugell @M fthcis F1 8l

12 3T 7TQ ge & TEt YA A1 T R

Fe:

(@) haet 1

(b) 133

() 23R3

(d) 1,233
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137.

138.

139.

140.

141.

142.

143.

144.

The pair of India's Shahu Tushar Mane and which
other player has won the gold medal at the
International Shooting Sport Federation - ISSF
World Cup?

(a) Mehuli Ghosh

(b) Vivaan Kapoor

(c) Zorawar Singh Sandhu

(d) none of these

Who has won the Wimbledon Tennis Tournament,
2022 men's singles title?

(a) Medvedev

(b) Rafael Nadal

(c) Roger Federer

(d) Novak Djokovic

Consider the following statements about 'Bal

Raksha Mobile App'-

1. Bal Raksha Mobile App launched by the
Ministry of Women and Child Development.

2. The objective of this app is to generate
awareness among parents about child
preventive health care through Ayurveda
intervention.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 2 only

(c) both 1and2

(d) neither 1 nor 2

Who was appointed as the new Sherpa of India in
G-20 by the Central Government?

(a) Amitabh Kant

(b) Shaktikanta Das

(¢) Rajiv Kumar

(d) Arvind Panagariya

Who has been appointed as the new Managing
Director (MD) of ONGC Videsh Limited by the
Central Government?

(a) Alok Gupta

(b) Subramaniam Iyer

(¢) Rajarshi Gupta

(d) None of these

Where will India's first E-Waste Eco Park be built?
(a) Gangtok

(b) Delhi

(¢) Indore

(d) Mumbai

Which city of India has been chosen as the first
'cultural and tourism capital' of the Shanghai

Cooperation Organization (SCO)?

(a) Puri

(b) Mathura

(c) Bhopal

(d) Varanasi

Which is the first state in India to start its own
internet service?

145.

146.

147.

148.

149.

150.

(a) Kerala

(b) Karnataka
(c) Punjab

(d) Uttar Pradesh

When is World Hepatitis Day-2022 observed every
year?

(a) 29 July

(b) 28 July

(c) 22 July

(d) 27th July

'Startup School India' initiative was launched by
whom?

(a) Infosys

(b) Government of Delhi

(c) Google

(d) Facebook

Consider the following statements regarding 'QS

Best Student Cities Ranking, 2023'-

1. According to this ranking, Seoul has been
given the status of the best city.

2. The highest ranked city in India according to
this ranking is Mumbai.

Select the correct statements from the codes given

below

Code:

(a) 1 only

(b) 2 only

(c) both 1 and?2

(d) neither 1 nor 2

Consider the following statements about the 'Nari

Ko Naman' scheme -

1. ' Nari Ko Naman' scheme has been launched
by Uttar Pradesh government.

2. Under this scheme women passengers will be
provided 50% concession in the fare of
Himachal Road Transport Corporation
(HRTC) buses within the state limits.

Select the correct statements from the codes given

below

Code:

(a) 1 only

(b) 2 only

(c) both 1and?2

(d) neither 1 nor 2

Where was the 'Suraksha Manthan 2022' organized
by the Indian Army on border security and coastal
security?

(a) New Delhi

(b) Visakhapatnam

(c) Chennai

(d) Jodhpur

Which state's white onion has been given GI tag?
(a) Maharashtra

(b) Uttarakhand

(c) Odisha

(d) West Bengal
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137.

138.

139.

140.

141.

142.

143.

WRA o Mg JUR A 3R fha o= et & gt =
SIRIETT FARMAETSI Wl AgIY- SEUAYHTSH Iy
Y TRUT § WUf Ugah SidT 87

(@) Ageh e

(b) o™ R

(c) SIRTeR Rig gy

(d) 379 & IS 5

favarerea g ufaaifirar, 2022 gy fimew faae
fore Sfiar 87

(a) Aea

(b) I TS

(€) IR hsR

(d) are SHetfaa

'JTeT &7 A8 OU' & IR & fAefaf@d sy )

frar HifSe-

1. dTeT &7 HiaTse QU Afger vd are faenra garea
ZRT dt=a forar mam|

2. 39 QU &I I8 AT fUar & g snmgde gwey
& AT T 91T A7 AR Wy @9 & a1
T STRTEhdT ST T &1

I faQ 71U e & et FHYAT 1 T B

Fe:

(a) Fad 1

(b) haeT 2

(c) 13fR2 et

(d) Fat13iRa2

e TRhR gRT g Sft-20 & 9Ra 1 =71 RaT
e fopar mam?

(@) SIfAarT wid

(b) <rfarTepia g

(c) Tfta AR

(d) srfde g=mrfesar

he TR gRT ford siusiidt fader fafdes &
ysigr fAdsren (MD) e femar mar?

(a) SATeileR T

(b) geUTH @R

(c) TSI Tear

(d) =9 & @3 el

YR I UGHAT 3-A% eh! UTch Thgl ST SITQT?
(a) el

(b) feeeft

(0 =R

(d) qei8

LTETS TEINT T (SCO) <hl Uged! 'Hikeplden 3R
e AU IR oh [ohd 18R &l AT 74T 872
(a) g

(b) #YA

(c) U

(d) arRToRH

144.

145.

146.

147.

148.

149.

150.

SO G& h $e3c JaT [F e Tl VR T Tgell
R hi- A1 8?7

(a) e (b) Sice

(c) uSE (d) IR U

fay et RRag-2022 ufdad e T SI7eT 82
(@) 29 e (b) 28 SIS

(0) 223 (d) 27 Ferd

RTENT Tt SfAT UEd fheah gRT S Y TE?
(a) Swifed

(b) feeeft TR

(c) T

(d) ogs

RUE S s R Wk, 2023' Far A

fofRd sy R foar fHifSi-

1. 39 HT & IUR [GIte ol GAIAE 2GR AT GoIf
v fopar T g1

2. 39 T & TIR HR T Gared 3 aTell e
qes 8l

2 f&Q Y e & Bt HYAT 1 TIA B

He:

(a) Fad 1

(b) a2

(c) 13R2aHt

(dy a1 8iRa2

'TRY Bt FHT Tt & aR § A syl wR fommR

HifSe -

1. R I T AT ITR UM TR GRT Y chl
UER]

2. 3T IS & dgd sy it drstt & ffar afgen
IAgT ot fgdTaer I8 uRag+ A (HRTC)
1 o foh=Tq & 50% i B UaT chl ST |

2 f&Q 14 e & Bt HYAT 1 TIA B

He:

(@) haet 1

(b) haa 2

(c) 13R2aHf

(dy Fat18iRa2

WRATG 1 GRT HAT GR&T Ue I GR&T U GRaT
He 2022 I STt hgi fohar Tam?

(a) 3 feeft

(b) fasmramgeTH

() ==8

(d) SergR

fohg uear & Tthe &SI @l SHamg &1 uerH fohar man
&2

(a) #WBRTE

(b) STRIE@US

(c) snfssam

(d) uf9\ sTTer
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